EARAROBREBRT —5 XN—ZXBISH—F

2024538318 (B) 3@4L4H

R eSS

U] MHin

‘(fﬁ} W ‘I%EH?’JF&] ~ | 5 1800 7m

[AE=%] 1 7% :5,500,000 § ~ 27 :2,200,000 @ .~ 37 :1,400,000 H 4 3&:830,000 . 5 7&:550,000 H

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
» 3 4 3 | SHEH 1:54.8 3-4-4-4 |37.8] 90.6 | 1 442 | TEIEEE GEH)
117112473V F4+ [B] 57.0 ) (-8) & FrDOyhIr—i
RUTIAVINT N B IAIYRSA b J=HUTr—L
» KEFHEER : -2-3- LRGSR (5E)
) 6 | MLy ~ [B] 43 P 1.(545).4 3-2-3-2 | 38.6| 8.0 | 5 (4_828) a2 L
R:UAVF4—R B:ZAN=TILF+ v b estiivee ]
S RIEtH : -7-7- TMRIE# (B8
305 7|7y RIIZFLUR R 1.(535).9 7-7-7-7 |38.7| 81.0 | 8 (538) s €S7)
RFPIPITATVR B:FPAT4T7E— ERKS
11,2 3 | GfelE 1:56.1 6-5-4-5 |39.1| 77.4 | 3 556 | ML (SS3)
Eam TIWA74 [B] " 57.0 %) 10 FUS7 Ll A%—2
RIRVIATAwIIAUT— BLFTA—AXTXA b =a)l s
W R _~ £ 3 | XEEE 1:56.4 3-5-4-5 [39.4| 74.9 | 2 | 436 |ME GSH)
5|5/ 8 LybFRTT—Y 56.0 (1 3/4) (g | B BRE—ZL—yVT
RUFIATA—Ib B:IIEUY RFHAY HE%S
3 _ s 3 | AR 1:56.6 1-1-1-1 [39.9| 73.5 | 4 478 | /INEfmsh ()
611111 FEIv¥I¥ *53.0 a1/2) ) BB
R:FISU—vavATor— &:I—ZIIv7 RIS
S B3 | FEH 1:56.6 2-2-2-2 |39.9| 73.5 | 7 | 458 |7Eks (55F)
] 3| A4 —RAvh 57.0 @) ) |ABEE
R:TUyIRAZYRELSIL #:aV54A4Y [Shirdie]
PR 3 | EEAA 1:56.7 9-9-7-7 |39.4| 72.4 | 6 | 494 |EFEHE EH)
8l 71| ¥ILVE 5.0 &) © |BBEE
R:7ROFVITL B:7ROTUVER IZIFHIS
<5 s 3 | 83hA 1:56.9 12-12-7-7 39.7 | 71.0 | 11 | 462 |*ALFHE ()
91814 DA VSLER [B] 57.0 (1172 2 | @ D1
RZANOVIUI—Y BRA—KIBL—T T URUIKIS
= o~ ) 3 | MEES 1:57.1 14-14-10-10{ 39.6 | 69.3 | 10 | 484 |{PEE(E— ()
NS—FATDVT— 57.0 (/4) (=) |lEmE=E
RYNITSIY BFFIRNII— IRE B
=— KIELS : —7-12- = E S
7S5 303 Xm 1(55/74.)2 7-7-12-10 | 39.5 | 68.3 | 12 (4_9(3 itk €S7)
RIVIRI—ZZRI— B:T74FIOvY JOFHhTr—L
=i . -10-10- TR 3
Y hRYLU [B] 3 gtaymﬁﬂi 1.?27).5 10-10-10-10| 40.1 | 65.6 | 13 ig;} é‘é&{%{' €55)
RNNLVTSY 8 RSIVRTL xF s
~ B3 | FIRHER 1:58.0  [13-13-14-1339.9 | 62.1 | 9 | 526 |TOEHEN (&)
Lh—=~40— 57.0 @1/ (o) | @) JWIVFA—YS5TUY KRR
RFIVYIAYVE B3IV UYTYRT7—L
— AR . -10-12- a— 7
Yas J7S— i3 g%a (25;(’)]9#) 10-10-12-13| 42.4 | 48.8 | 14 (5+222) %%%% ESE)]
RPIRIFVITL B:Fv—LUT o FIES
[ BN
Eh' 51.1-38.1
NOVF AL | 12.8-11.9-13.1-13.1-12.8-13.0-13.1-12.6-12.4
@ I1—JF—BEBIEfI
13—7F— 1,3(8,6,12)10(4,7)11(5,13)14,9-2
20—F— (x1,3,6)12(8,10) (4,7)11(5,13) 14-9-2
30—F— (*1,3)6(8,10,12) (7,11,14) (13,2) (4,5)-9
43—F— (+1,3,6)12(8,10)-(7,11,14) (4,13,2)-(9,5)
o ILRE
B 12 140 JA R 6-12 320 AR 4-7 630 3EE 6-7-12 8,010
B B 12 110 7-12 1,270 /B E 6-12 670 3EE 12-6-7 16,930/
6 2204 6-7 4,400M o= 12-6 790H
7 580M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




